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General Instructions :

(i) Please read the instructions carefully.

(it)  This question paper is divided into three sections, viz. — Section A,
Section B and Section C.

(iti) Section A is of 5 marks and has 6 questions on Employability Skills.

(a)  Questions number 1 to 4 are one mark questions. Attempt any
three questions.

(b) Questions number 5 and 6 are two marks questions. Attempt any
one question.

(iv) Section B is of 17 marks and has 16 questions on Subject Specific Skills.

(a)  Questions number 7 to 13 are one mark questions. Attempt any
five questions.

(b) Questions number 14 to 18 are two marks questions. Attempt any
three questions.

(c) Questions number 19 to 22 are three marks questions. Attempt any
two questions.

(v)  Section C is of 8 marks and has 3 Competency-Based Questions.

Questions number 23 to 25 are four marks questions. Attempt any
two questions.

(vi) Do as per the instructions given in the respective sections.
(vii) Marks allotted are mentioned against each section/question.

SECTION A
(Employability Skills) (3+2=5 marks)
Answer any 3 questions out of the given 4 questions. 3x1=3
1. It is the entrepreneur who takes the first move towards setting up an
enterprise. It is called taking . 1
Define “Persistence” associated with an entrepreneur. 1

3. Which engineer’s job is it to design future transport that will be

sustainable ? 1
4. What is the mission of National Action Plan on Climate Change ? 1
Answer any 1 question out of the given 2 questions. Ix2=2
5. Name any two common fears seen in entrepreneurs. 2
6. List any two ways to minimise waste and pollution. 2
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SECTION B
(Subject Specific Skills) (5+6+6=17 marks)
Answer any 5 questions out of the given 7 questions. 5x1=5
7. The branch of accounting used to calculate cost of product is : 1
8. Give one example of current asset. 1
9. users are the persons who have direct interest in the business
enterprise. 1
10. Give the rule of double entry for Real Account. 1
11. The fact that a business is separate and distinguishable from its owner is
best exemplified by the concept. 1
12. The method used for valuation of fresh food items is .
(LIFO/FIFO) 1
13. Inventory control aims at keeping track of inventories to be available in
good quality and right quantities. (True/False) 1
Answer any 3 questions out of the given 5 questions. 3x2=6

14. Name any two external users of accounting information. Why do they

need accounting information ? 2
15. Give any two points of distinction between retail and wholesale billing. 2
16. Explain any two conventions of accounting. 2
17. Explain any two features of double entry system of accounting. 2
18. What is New Old Stock (NOS) ? 2
Answer any 2 questions out of the given 4 questions. 2x3=6
19. Explain any three functions of an accountant. 3
20. Explain advantages of preparing trial balance. 3
21. Explain any three advantages of accounting. 3
22. Explain any three merits of computer-generated count sheet method for

counting inventory. 3
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Answer any 2 questions out of the given 3 questions.

23.

24.

25.

325

SECTION C

(Competency-Based Questions) (2x4=8 marks)

In a supermarket, at the billing counter, customers were giving very
positive responses regarding billing procedure. There was no chaos on the
counter. Goods were properly delivered along with accurate bill.

Based on the case study given above, answer the following questions :
Mention any four responsibilities properly discharged by the head cashier

in the above supermarket.

Shyam has ¥ 10,00,000 with him. He wants to keep ¥ 8,00,000 to meet
his long-term future needs and balance amount to meet his routine

expenditure.
Based on the case study given above, answer the following questions :

(a) State and explain the type of deposit account Shyam can open to
meet his long-term needs.

(b)  State and explain the type of deposit account Shyam can open to
meet his routine needs.

Alpha Ltd. records its inventory at the end of every fiscal year.
(a)  Identify the method of inventory control used by Alpha Ltd.
(b)  Give any three advantages of the method identified in (a) above.
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